Fixed System assembly and Installation Guide

ActivBoard System

v
ﬁ Promethean




ActivBoard

ST-BOOM

F

%—jm 2039

X1

/Illﬂ
‘>,
@ DR-5861369

X1

X1

e DR-6012050
\/
Pt

X1

X1

W DR-6011032

x4

e

DR-6011061

X1

X2

X1

DR-5862192
DR-5862274
\
% DR-6012044
// J
ey CB-AB+2-USB-2M
TP1810

X1




ActivBoard

>

/
1

SC-M6X50

X8

9

WA-M6-5

X8

X8

X8

C @
WA-M6-1
D«
J
=
=
-
& SC-M6X20-1
E 7
N
=
%
% SC-M6X25

X2

©

F

WA-M6

X2

a

X2

H

e

~31&
\%SC-M4X12-1

x10

% HW-CL-ATC-17BLK

x4

L
M

HW-PACKER

X2

U

‘ |

WA-M6-2

X2




ActivBoard

ST‘ BOOM_ F- EST

<P

/4

/I.M
>
@ DR-5861369

g\

[ _ DR-6012031

A

x1

x1

DR-5862274

X2

& DR-6012023
0

X1

&
< cBAB+2-USB-2M

B :
~ 1

TP181(

X1



ActivBoard

X9

>
e
&

T

o {3

= SC-M6X50 SC-M4X12-1

X8 x4

€

0

WA-M6-5 SC-M5X16

C
@ x4 IX2
WA-M6-1 w SP-6
gf X4 @ X2
= SC-M6X20-1 HW-SP-7
E g

|

A

HW-CL-ATC-17BLK
X2 X3

= SC-M6X25

0.

O

x2 x2

NT-M6 WA M6-2




ActivBoard

ST-BOOM-F-UST

DR-6032010 X 1 X2
,,,;,,\,\,\,,\,\,\,,\,\,\,\,\!
DR-5862192

T X 1 DR-5862274 X 2
861369
DR-6032001 X 1

s 1
% ’ R
& % X1

CB-AB+2-USB-2M
x1 % X1

EP181(

x4

X1

A/ N
/N
) )
oy C—

DR-6011061




ActivBoard

>
/

A

= SC-M6X50

X8

9
@

WA-M6-5

X8

X6

x4

WA-M6-1
D —
N\
-
g
=
= SC-M6X20-1
E 7
L
-
%
= SC-M6X25

X2

F

©

WA-M6

X2

/ /
L

NT-M6

X2

H

o X9

SC-M4X12-1

x4

HW-SP-6

L HW—CL—ATC—17BLKX3

M X2
HW-PACKER

N T X3
SC-M4X12-3

—M4—3

0

X3

WA-M4-7




ActivBoard

Q g
SC-M5X12

x4

=,

WA-M5-5

x4

|

WA-M6-2

X2




ActivBoard A Safety Information

For your safety, read this guide before installation. Incorrect handling, installation or modifica-
tion to the system could result in personal injury, property damage, damage to the components
or render your warranty invalid. Keep this installation guide for future reference.

Before starting the installation, check for obstructions within the wall and make sure that the
ActivBoard system is located at a safe distance from any pipes and cables.

If the wall is not strong enough to support the weight of the system, reinforce the wall before
installation. The number, position and type of fixings used should be determined by the installer
and be suitable for the wall construction.

The installation work must be performed by a competent person. Attempting to install the
product without relevant experience is done so at your own risk.

Take care when feeding the cables through the system boom and behind the ActivBoard during
installation.

Refer to the manuals for your ActivBoard and Projector for correct location, installation, safety
and setup information.

ActivBoard Fixed Installation Guide 9



ActivBoard

T

Boa rd
Projector—_

87”

95u

X

PRM-30

PRM-35

EST-P1

AN

UST-P2

oo oo <

=N w (X
Aolo|o|<

NWIN| 1
o gw <

10

ActivBoard Fixed Installation Guide




ActivBoard

> 500mm (19.7in)

> 1200mm (47.3in)

> 1200mm (47.3in)

TP1810

> 590mm (23.3in)

TP1810

TP1810

ActivBoard Fixed Installation Guide

11




ActivBoard

12 ActivBoard Fixed Installation Guide



ActivBoard

EST-P1

ActivBoard Fixed Installation Guide 13




ActivBoard

ActivBoard Fixed Installation Guide

14




ActivBoard

15

ActivBoard Fixed Installation Guide



ActivBoard

@y

?l PRM-30 & 35

Diy .
Cey 1|

16 "~ ActivBoard Fixed Installation Guide



ActivBoard

PRM-30 & 35

17

ActivBoard Fixed Installation Guide



ActivBoard

\\Pﬁ%@ @@@\

ActivBoard Fixed Installation Guide

18



ActivBoard

ActivBoard Fixed Installation Guide 19



Q www.PrometheanKB.com

b\
& www.PrometheanWorld.com

TP18501212V1.0_UK ©2012 Promethean Ltd. All Rights Reserved. Products are subject to availability by country. Product Specifications are subject to change without notice.



